Question 1: Find the exact values
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Question 2; Evaluate
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Question 3: Find the exact values of:

a) sin[sin™ (2)] +sin[sin” (- 3)] = @

b) cos[2 cos™ (i‘)]
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c) sin”! (%) + tan™ (Jﬁ'g) = cos~! (%)
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Question 6: Find the exact values of:

c) cos[sin! (&) +sin™ (})] = @ d) sin[2tan™ (3)] = @
(tip: use the formuia (tip: use doubie angle formula for sine, i.e.
cos(a+B) = cos a cos B —sin o sin B and also sin 20 = 2 sinB cosO
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Question 6: If f(x) =3 cos™! (%), determine the inverse function /= ' and specify its domain and range.
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Question 7: Solve simultaneously the two equations 2 sin~!x + cos™'y == & andsin'x -2 cos™'y =— &
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Question 8:
a) Let 6 = sin"'x. Use the fact that cos (g - 6) = sin § to show that cos™'x = 2—0
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b) deduce that sin~'x+ cos™'x = :
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